Answers Monday 11th May
Grammar – Identifying verbs in sentences
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Year 5- Maths Position in the first quadrant
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Year 6 Maths – The first quadrant
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5a. Even though the woodland was under
threat, the council seemed reluctant to
enforce an outright ban on the use of
motorbikes in such a popular spot.

6a. 'had been’ auxiliary verbs; waiting’
action verb; ‘fel” linking verb

7a. Hakeem has missed ‘began fo fade’
and has incorrectly underlined *hope’
which is used as a noun in this instance.
8a. felt; were

Expected

5b. The weather on that fateful day had
been sfiflingly hot, but suddenly he sensed
afresh wind and the possibility of rain
approaching from the west.

6b. ‘passes’ action verb; ‘appears’ and
‘becoming’ linking verbs

7b. James has missed ‘retumn’ and
‘discussed’ and has incorrectly underlined
‘behind’, ‘debates’, ‘meeting’ and
‘passion’.

8b. delivering
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4a. The adventurous affitude displayed by
all the teenagers was refreshing for the
forest rangers; the weekend could finally
commence.

5a. voted (past), found (past), frustrated
(past)

6a. Yumi is incorrect. She has missed the
verbs ‘waiting’ and ‘fo strike’. She has
incorrectly underlined herd’ which is a
noun in this instance.

Expected

4b. Alocal MP provided assurances that
resources for the many children’s services
the council finances are guaranteed for
the next ten years.

5b. had made (past perfect), would test
(future (conditional))

6b. Donnie is incorrect. He has missed the
verbs ‘had been forgotten’.
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4a.A(0,7); B (3, 5); C (3,2); D (10, 4); E (6,
8).F(7,3)

50.A(5,5);B(4,7);C(6,7) D (7,5)

6a. Vertices plotted from top left clockwise
(1L.7)(8,7)(8,3) (1, 3)

Expected

4b.A(1,2);B(5,3):C (7, 1D (7, 4;E(3,
8).F (8, 8)

5b.A(3,0); B (8,4); C(7,1) D (10,8)

6b. Vertices plotted from top left clockwise
(4,8) (5, 8) (5, 0) (4, 0)
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Expected

4a.P

5a. Accept any coordinates that would
make a quadrilateral with the given
coordinates, for example: (1, 4) and (8, 4),
(1,8) and (8, 8)

6a.True. If you know 3 coordinates you
know the direction of the square and can
calculate which point is missing.

Expected

4b.s

5b. Accept any coordinates that would
make a quadrilateral with the given
coordinates, for example: (6, 7) and (8, 7),
(6,1)and (8, 1)

6b. True. If the x value changes, the line
will go horizontally. If the y value changes,
it will go vertically.
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4a.(7, 1) is the odd one out because the
other coordinates make a hexagon.

5a. Various answers, for example: (4, 7),
(5.5). (4,3), (2, 3)

6a. Various answers, for example:
(3.3).(3,5).(5.7).(7.5.07.3)

Expected

4b. (7, 2) is the odd one out because the
other coordinates make a hexagon.

5b. Various answers, for example: (7, 5),

(7.2).3,2)

6b. Various answers, for example: (2, 2),

(1.4),(2,6).(4,6), (5, 4). (4,2)




